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9a. Find the highest common factor to 9b. Find the highest common factor to

simplify the fractions below. simplify the fractions below.
A 3Bl IO )

42 (=) 60 (=)
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10a. Match each fraction to its simplified

version. version.
A 18 5 A 84 9
50 12 96 25
B 26 2 B 36 7
40 25 42 8
c. 40 13 c 27 6
96 20 75 7
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Reasoning

Is the following statement,
always, sometimes or
never true?

"To simplify a fraction
you divide the
numerator and
denominator by 2 over
and over. "%

Explain your answer using
examples.

Amy thinks thati in its
5

1
simplest form is —
2.5

Do you agree?

Convince me.

Why can't fractions such as the
following be simplified?

21 17
67 45

Explain your answer as fully as
possible.
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Problem Solving

Find 3 fractions that
can be simplified 5
times.

Explain the way you
went about finding
them.

What fraction has a
denominator of 30 and
when it is simplified it

becomes 2_ 32

If someone is hungry and they are
36 25

offered — or — of a huge
96 40

pumpkin pie, which would they

rather have?





